

1. Resuelve las siguientes operaciones y arrastra la pieza según el resultado.

$(5 - 10) + (4 - 9)$ =	$(4 + 5 - 3) + 6$ =	$-(-9 + 1) - (7 - 5)$ =	$-3 - (5 - 6 - 1) + 2$ =
$+1 - (-4 + 3 - 1)$ $-4 + 4 =$	$10 - 2 + (-3 - 4)$ $-1 - (-5) =$	$[-3 - (1 - 6) + 5]$ $-8 - (9 - 2) =$	$(-6 + 4) - 4$ $+ [3 - (8 + 9 - 2)]$ =
$-30 + 8 - (-5) + 1$ $-5 - (-3) + (-7) =$	$-8 + (-2) - (-10)$ $+2 - 5 =$	$-19 + (-4) - (-8)$ $+ (-13) - (-12)$ $+4 - 57 =$	$-4 + (-2 + 1) + 5$ $- [3 - (1 - 2) + 4]$ $+1 - 2 =$
$(3 - 8) + (-5 - 2)$ $-(-9 + 1) - (7 - 5)$ =	$-[12 + (-3)]$ $-(-4) - 5 + 6$ $-(-4) =$	$5 + [2 - (4 + 5 - 3)]$ $+6] - 1 - (3 + 5)$ =	$-2 + (4 - 5 + 2) - 3 -$ $\{1 - [6 + (-3 - 1)$ $-(-2 + 4)] + 3 - 4\}$ =



1 	12 	6 	-10
-8 	0 	-2 	-6
-9 	-3 	-69 	-25
-18 	5 	-4 	3